REVISIONS
REV. DATE ECN # DESCRIPTION BY APPROVED
30 [7'7] ] 1 9/18/2009 ADDED DIMENSION. JH
@3.75 [95-25] 2 9/22/2009 HJ09-153 56" WAS 43" JH JES
7 FLAT DIAMETER 3 | 10/15/2009 HJ09-165 REMOVED BAYONET LOCK. JH JFS
/ 4 3/3/2010 REMOVED "STAINLESS STEEL" JH
5 6/13/2014 HJ14-120 STUD LENGTH INCREASED BY 0.50" CLS BLB
/ P 1.625[41.28 !
v [ ]
_ ®.56[14.22] @1.75[44.45]
\ 1 pa—
/
== FLATTEN THIS AREA
! TO WITHIN .0075[.19]
©2.800+.018[71.12+0.46]
——{ =— .14[3.56]
TANK HOLE DIMENSIONS
GLAZED AREA 2.51[63.65] __ STEEL SPIN-GRIP NUT
BUNA N GASKET DAG 213 BUNAN
GASKET
©3.97[100.84] — STEEL FLAT WASHER
~ _ , BUNA N
Al o~ (M M YSPACER 5/16" SPLIT COIL LOCKWASHER /A\
A=A 1
3/8" SPLIT COIL LOCKWASHER
- STAINLESS STEEL Hisnsan LU LEE L L LI | I —
L] 441 U I N O I I I Y I 4 w1 ] 4 ___HL_41_)__ A b — L
u . - - - = - 2.16[54.
CCHCE L EEO ] EEE e e RN [ N N 1] 'L_ T J‘ﬂ \ D216 15486]
3/8"- 16 BRASS NUT—— | | \
-TIN PLATED NN N
LV \L| \\/ iy, Ul U] ) L @267[6782] L] 5/]6”' ]8 UNC ‘2A
3/8"- 16 UNC - 1A THREADS—— —5/16"- 18 STEEL NUT
—11.57[39.96] == 8.33[211.56] (REF. ONLY) 8.26[209.70] (REF. ONLY)
1.06[26.97]
(REF. ONLY) AM
18.16[461.22] (REF. ONLY)
SPECIFICATIONS:
1. RATED VOLTAGE.......oooo...... 18kV
2. BASIC IMPULSE LEVEL............ 125kV
3. STRIKE DISTANCE .....vveeoe.. 8.75" [222.25mm]
4, CREEP DISTANCE. ..o 17.75" [450.85mm]
5. APPROXIMATE WEIGHT.......... 7.2 LBS
MATERIAL:
1. CAP - C84400 TIN PLATED TOLERANCES H-J ENTERPRISES, INC.
2. EYEBOLT - C95500 TIN PLATED (EXCEPT AS NOTED) 3010 HIGH RIDGE BLVD. HIGH RIDGE, MO. 63049 USA
3. STUD - 1008-1010 STEEL ROD PHOSPHATIZED — PHONE 1-636-677-3421 FAX 1-636-376-1915
X PROPRIETARY AND CONFIDENTIAL " -
O et PROCLSS ELECTRICAL PORCELA. I Ll ST B
% %@EE@ZEE%\%%ELHL rﬂ%%ii%o 'L4Ess THAN +.03", UNLESS OTHERWISE NOTED REPRODUCTION IN PART OF AS A WHOLE | */- CHRD AFPD DRAWING NO
. - = ’ . WITHOUT THE WRITTEN PERMISSION OF [ ANGULAR NK 06/13/14 -
Ao +/- 2 Degrees | XANBY PAE 971072009 [*ME NTS. AS1608-001




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View6


